Handin 3

1. Draw the block diagram of the negative feedback interconnection of

P(s) Aq(s) Asg(s) B
[ I A3(S) A4(S>‘| o A,

(I+C(s)P(s)) " [C(s) 1], [

using only six blocks (one for each of P(s),C(s),A1(s), As(s), As(s), Ay(s)).
How is the Ho, norm requirement bpc > v related to robustness with respect
to A? Now consider the additive uncertainty set

Aaad = {Pa(s) : Pa(s) = P(s) + A(s), [A(s)]leo <}
If bp o > 7, is the negative feedback interconnection of Pa(s) and C(s) stable
for all Pa(s) € Auga? What does this tell us about coprime factor uncertainty

when compared to additive uncertainty? Can you make similar claims about
the multiplicative uncertainty set

Amute = {Pa(s) : Pals) = P(s)(I + A(5)), [|A(s)[loo <7}?

Hint: Turn the performance requirement ||(1 +C(s)P(s))"1C(s)|lc0 < % into a
statement about robust stability.

2. Zhou 8.12.

2018-10-02 17:56 1



